style Dmax Lmax d amax
CR16 1,6 4,0 04 1,0
CR25 2,5 6,8 0,6 1,0
CR37 3,7 10 0,7 1,0
CR52 5,2 16,5 0,8 1,2
CR68 6,8 18 0,8 1,2
CR93 9,0 31,7 0,8 1,2
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Nomogram to find style or stability

Example

What is the stability of a 10 kS2 resistor,
style CR25, operating at o

0,3 Winan ambientof 60 C?

Find 0,3 W on CR25 style column.

Follow the line right, down, left, to the
stability axis. AR/R is 1% over 1000
working hours.

Use the reverse procedure to find right
style for a given stability and dissipation.

Style CR26A

The bent lead is partly covered with an
insulating lacquer having a breakdown
voltage of at least 50 V(d.c.)
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